x| &47| 8 &+ MX|(3.6m 0|5} (m &)
ol = 2 I 0.5B(EHH % &) 1.0B(8HH %| &) 1.5B(8HH x| & -
S| 29 || 39 || 29
R m | 21,000 0.02324 488.0/0.05624|  1,181.0/0.08814  1,850.9
Al E kg 109 9.69  1,056.2) 24.99) 2,723.9 39.78  4,336.0
HMHE 190X90X57mm | 7H 350 75| 26,250.00 149 52,150.0/ 224 78,400.0
Al E =& kg 109 3.279 357.4 3.279 357.4| 3.279 357.4
TR 2 AEslel ol Q2 E 2| 2% A 1 993.9 1 1,565.9 1 2,068.3
[ 2 b]] 29,145 57,978 87,012
=XZ ol | 209,720/ 0.16| 33,555.2 0.27 56,624.4| 0.37 77,596.4
=23 °l | 156,858/ 0.05| 7,842.9 0.05 7,842.9 0.05  7,842.9
H2Eolg el | 138,290/ 0.06/ 8,297.4 0.1 13,829.0 0.13 17,977.7
[ & H]] 49,695 78,296 103,416
(g Al 78,840 136,274 190,428
X| &4 2 &&= MX[(3.6m =3} (m &)
b = 2 = crel | okt 0.5B(EHH x| &) 1.0B(8HH x| & 1.5B(8HH x| &) b o
23| 29 | 3| 39 | $m3| Fo
X m | 21,000 002324 488.0 0.05624|  1,181.0/0.08814  1,850.9
AlHl E kg 109 9.69  1,056.2) 24.99) 2,723.9 39.78  4,336.0
HMHE 190X90X57mn | 7H 350 75| 26,250.00 149 52,150.0) 224 78,400.0
ATl E =& kg 109 3.279 357.4 3.279 357.4| 3.279 357.4
BTeR Y YFulel JAZe | Q12 E 0| 2% A 1 1,252.0 1 2,047.1 1 2,703.0
[ & =[] 29,403 58,459 87,647
=XZ ol | 209,720| 0.2| 41,9440 0.35 73,402.0 0.48 100,665.6
=23 ol | 156,858/ 0.07| 10,980.0 0.07 10,980.0/ 0.07 10,980.0
H2Eolg el | 138,290/ 0.07| 9,680.3 0.13 17,977.7 0.17 23,509.3
[= 2d]] 62,604 102,359 135,154
(g Al 92,007 160,818 222,801
S (1) 2 E2 xZHEHE(19%9X5.7cm) 2| S7H4Y| (st x| & 7| Z=0|Cf,
(2) HolZ, A EEMX|, HAHE 4%, Z2Et2 d|H], 8HE Fot 2 47|, EEI|, A HE= 2ES ZTEEICL
(3) 37&E ¥ FEH|(H|ETY] 5)of 7| A= el E| 2% = A AlSiCt
[Zaxtg] x2er| 2 B WY
(m?eh
am chey e )
0.5B 1.0B 1.5B
HZ(19x9x5.7¢cm) of 75 149 224
szea 7| m? 0.019 0.049 0.078
AEEE m3 0.003 0.003 0.003
% DE2E2o| MY 50| etE oo, gt = 47] 1:3 / X &&= 1:1 o|ct.
1-3 Ofx| 47|
OFx| 47| (1,0000H &)
1. 1.
ol I I e T e 8l 2
22 m 21,000/0.3038  6,379.8/0.3332  6,997.2
AlHl E kg 109 210.8] 22,977.2| 231.2] 25,200.8
MY E 190X90X57mm | 7H 350| 1,030 360,500.0/ 1,030 360,500.0
STEE 2 ZFPulel 7Yy OB E 0| Dy, Al 1 24,959.5 1 20,631.4
[ & H]] 414,816 413,329
=XB el | 209,720 4.5 943,740.0 3.6 754,992.0
HEolg el | 138,290 2.2/ 304,238.0 2| 276,580.0
[= 2] 1,247,978 1,031,572
[BF Al 1,662,794 1,444,901




